The Ixleb

The ixleb was heb.  That narf, the illby ixleb summit and was all domini. Ouy was its zomba?  The ixleb zanked and then izzly zonched for its zomba from the hightow.  It zonched because an uga of dow filled that narf er - dow of the dumbing tonto's bleer.

1. What was the ixleb?

A. hightow

B. heb

C. dow

C. zomba

2. When did the illby ixleb summit?  The illby ixleb summited –

A. heb

B. that narf.

C. izzly zonched.

D. domini 

3. Who was the illby?

A. the zomba

B. the hightow  


C. the narf

D. the ixleb

4. Where did the ixleb zank and zonch from?   

A. the narf

B. its zomba

C. the hightow


D. dumbing tonto's bleer

5. Why did the ixleb izzly zonch?

A. Its zomba zonched from the hightow.

B. An uga of dow filled the narf er.

C. The ixleb was heb.

D. The summit was all domini.
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